






40.01% of 900.09 + (7.07 × 99.99) ÷ 14.14 + ? = 70.07% of 7000

A.4490
B.4940
C.4904
D.4094
E.9044



11.922 + 16.012 = ?2 × 3.952

A.15
B.2
C.4
D.5
E.17



(7.01)3 × (12.01)2 ÷ 2402 =  (?)3

A.7
B.10
C.12
D.13
E.17



(64.01)2 × (65)1/3 × (25.99)2 ÷ {211 × (12.97)2} = 2?

A.4
B.5
C.2
D.3
E.6



(52.022 – 34.012)  ÷ 17.99 × ?= 1720

A.400
B.20
C.25
D.625
E.40



[(8.02)2 – (12.99)2 + (3.99)3] × 10 = ?

A.– 1800
B.1450
C.– 1600
D.– 410
E.– 1400



(24.99% of 399.995)  ÷ ?  =  (125% of 4.111)2

A.80
B.4
C.60
D.16
E.40



255.95 + 14.99 × 2.99 = ? + 11.11

A.40
B.50
C.60
D.55
E.45



(8.97)2 × (15.05)2 ÷ 624.89 = 9?

A.3
B.– 4
C.4
D.2
E.5



? =   (1248.28 + 51.7) ÷ 99.9 – 7.98

A.49
B.81
C.64
D.16
E.25



26.082 + 28.192 – 34.042 = ?

A.405
B.355
C.305
D.265
E.275



263.99 ÷ (35.05 + 8.08 – 31.99) = ?

A.22 
B.24 
C.34 
D.18 
E.28



24.96% of 299.99 + 44.98% of 399.99 = ?

A.245
B.225
C.235
D.255
E.265



119.99 - {64.95 + 119.99 ÷ 3.99} = ?2

A.15
B.10
C.8
D.7
E.5



𝟑
𝟐𝟕. 𝟐𝟕 + 12.99 - 14.99% of 79.98 = ?

A.4
B.2
C.-2
D.8
E.-4



30.012  – 19.982  – ?   = 21.012

A.49
B.60
C.30
D.39
E.41



40 % of 854 + 87.89 ÷ 7.99 = ?

A.398
B.1286
C.412
D.215
E.355



449.97 ÷ 15.02 + 208.08 ÷ 8.01 – 16.01 = ?

A.120
B.60
C.100
D.80
E.40



1024.002 ÷ 3.996 ÷ 7.98 + 29 = ?

A.3
B.9
C.30
D.90
E.70


